(4] Total No. of Questions : 8] [Total No. of Printed Pages : 4

- 3a) Draw the circuit of weighted resistor DAC and derive

ROUNO ...
expression for output analog voltage Vo. 7 EC-302 (GS)
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b) Find out step size and analog output for 4-bit R-2R ladder Grading System (GS)
DAC, wheninputisO11land11 1 1,assume me=+5‘v; Electronic Measurements and Instrumentation
' - Time : Three Hours
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PIUAT MY, ST TS 01 1 1 AR1111B, a9 S Note: i) Attemptany five questions,
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ii) All questions carry equal marks.
8. Write a short note on following: 14 Tt wel ¥ wa o &)
a) Square wave generator. iii) In case of any doubt or dispute the English version
b) Wha: are the applications of LVDT? question should be treated as final.
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@) LVDT® SIg5riv a2 §7 . a) What do you think about the permissible Errors in

- Ammeters and Voltmeters? Explain, 7
o ok o o e e ) mqﬁaaﬂ?aﬁlﬁaﬁm@agﬁa‘r%ﬁﬂw@ﬁé
7 ST

b} Anelectrostatic voltmeter consists of two attracted plates
(movable and fixed provided with guard rings). When a
potential difference of 10kV is applied between the plates,
there is a pull of 5x10-2 N on the movable plate. Find the
change in capacitance produced due to the change in the
position of the movable plate by 1 mm. Diameter of the
movable plate is 100 mm. 7
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In Hay's bridge the four arms are arranged as under.

AB 15 a resistance of 60052 in series with an inductor of
0.18 H, BC and DA are non-inductive resistances of
1200£2 each and CD consists of a resistance R in series
with a capacitor C. A potential difference of 3V at a
frequency of 50 Hz is applied between A and C. Determine
the values of R and C. Derive the condition for bridge
balance. 7
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Why is it preferable to have slightly under damped
instrument? Explain.
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Show how the Wien's bridge can be used for the

measurement of frequency in audio range. Derive the
equation for frequency f. 7
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b) Discuss the condition during which the Bridge sensitivi*
1s maximum for a detector. /
I UM ® waf B B 2R fRRe’ & o B
Haeeftaar arftrmam 2kft 21
4. a) Discuss about the electrostatic focusing deflection
system of a CRO with necessary diagrams. 7
HAYD JNWT &b Y 6 CRO & FApIECCE HIhi
fadqur goeft & IR F == @
b) Draw the intemnal structure of CRT and list its functions. 7
CRT &t 3iaRes vemr 113 3R 356 sl A it 713w
5. a) Explainincaseof DVM: 7
i) 3% digits
i) 5% digits.
What is the significance of ¥z digit?
DVM & Arat § 9S8
i) 3%IFH
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b) Explain about the conversion logic used in case nf‘
simultaneous type of A/D DVM.
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6. a) Draw a weighted resistor DAC and obmain the tr:msfer
characteristics of a 3 bit DAC.
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b) Draw and explain the circuit operation of Successive
approximation ADC. 7
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